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1 EAWEXDIR()

R (%) RER(EEAE100%) | TECHR
= B = (2 N
CEES | B3\ WA R | e | pe | ma | R | RE® | wes | EE | GE “f?
1 - 1 11le/+ 691.45 60 25 10 5 63 25 13| % 42
1 - 1 21|+ 1,520.68 30 45 15 10 64 21 14| % 42
1 - 1 22|+ 633.18 50 30 10 10 60 20 20| &= 42
1 - 2 11le/+ 306.97 60 25 10 5 63 25 13| & 41
1 - 2 21|+ 541.56 50 30 10 10 60 20 20| & 39
1 - 2 22|+ 696.92 30 45 20 5 64 29 7| & 40
1 - 2 23| 2F 502.30 30 45 20 5 64 29 7| & 34
1 - 3 11| R+ 923.10 30 45 20 5 64 29 7] 36
1 - 4 11| RF 925.49 60 25 10 5 63 25 13| & 34
1 - 4 12|+ 973.91 20 50 25 5 63 31 6| = 32
1 - 5 11| R+ 1,243.74 5 50 35 10 53 37 11| = 33
1 - 5 12|+ 1,357.15 20 45 30 5 56 38 6| = 33
1 - 5 13|+ 1,173.07 60 20 15 5 50 38 13| 36
1 - 5 14|+ 338.06 20 45 30 5 56 38 6| = 36
1 - 5 15|+ 779.99 30 35 30 5 50 43 7| 40
1 - 6 11| RF 6,145.32 60 25 10 5 63 25 13| & 40
1 - 6 12|+ 3,116.73 5 70 20 5 74 21 5| = 40
1 - 7 11| R+ 1,934.78 60 10 25 5 25 63 13| = 42
1 - 7 21| ZF 865.12 50 30 15 5 60 30 10| *= 43
2 - 1 11| RF 3,217.61 5 80 10 5 84 11 5| & 40
2 - 1 12|+ 677.99 10 70 15 5 78 17 6| = 42
2 - 1 13|+ 1,999.27 30 40 25 5 57 36 7] 43
2 - 1 14| 2+ 356.81 50 30 15 5 60 30 10| *= 41
2 - 1 21| ZF 5,189.20 5 80 10 5 84 11 5| = 41
2 - 1 22| 2F 1,232.71 15 50 30 5 59 35 6| & 43
2 - 1 23| 2F 469.77 30 40 25 5 57 36 7| 41
2 - 2 11| R+ 159.32 15 60 20 5 71 24 6| & 38
2 - 2 12|+ 382.49 15 60 20 5 71 24 6] = 38
2 - 2 13| RF 458.15 50 35 10 5 70 20 10| = 39
2 - 2 21| ZF 748.30 40 35 20 5 58 33 8l 42
2 - 2 22| 2F 693.65 40 35 20 5 58 33 8| 44
2 - 2 23| XF 293.45 50 35 10 5 70 20 10| *= 42
2 - 2 24| 2% 527.11 30 40 20 10 57 29 14| * 38
2 - 2 25| 2F 4,027.45 15 60 20 5 71 24 6| = 41
2 - 2 31| ZF 160.32 15 60 20 5 71 24 6] = 48
2 - 2 32| 2F 612.33 40 35 20 5 58 33 + 47
2 - 3 11| R+ 805.47 5 70 20 5 74 21 * 40
2 - 3 12| 2% 1,504.62 50 20 20 10 40 40 20| £ 43
2 - 3 21| ZF 6,187.27 5 80 10 5 84 11 * 40
2 - 3| 22i=x# 1,472.36 40 30 25 5 50 42 + 41
2 - 3 23| ZF 384.75 30 40 20 10 57 29 14| = 41
2 - 3 31| RF 899.77 5 70 20 5 74 21 5| & 45
2 - 3 32| XF 78.37 5 70 20 5 74 21 5| & 45
2 - 3 33| ZF 653.12 50 20 20 10 40 40 20| & 45
2 - 4 11| R+ 2,156.49 40 30 20 10 50 33 17| & 42
2 - 4 21| ZF 339.03 50 30 15 5 60 30 10| & 43
2 - 5 11| R+ 953.16 40 30 20 10 50 33 17| = 41
2 - 5 21| ZF 1,772.90 50 20 20 10 40 40 20| & 38
2 - 5 22| 2F 1,742.20 40 30 20 10 50 33 17| = 38
2 - 5 31| ZF 761.00 50 30 15 5 60 30 10| *= 39
2 - 5 32|RF 5,640.62 20 35 35 10 44 44 13| & 40
2 - 5 33| 2F 2,725.19 30 40 25 5 57 36 7] 42
2 - 5 34| 2% 2,500.64 40 30 20 10 50 33 17| = 42
2 - 5 35| XF 12,269.74 5 75 10 10 79 11 11| = 40
2 - 6 11| R+ 1,174.17 30 25 40 5 36 57 7| & 38
2 - 6 12|+ 386.64 30 20 40 10 29 57 14| & 35
2 - 6 21| ZF 429.58 30 25 40 5 36 57 7| & 35
2 - 7 11| [R5 1,218.33 70 20 5 5 67 17 17| & 42
3 - 1 11| R+ 600.57 20 60 15 5 75 19 6| & 45
3 - 1 12( 2+ 3,249.06 5 80 10 5 84 11 5| & 38
3 - 1 13|+ 1,190.37 15 70 10 5 82 12 6| = 29
3 - 1 14| 2% 757.06 60 10 25 5 25 63 13| 39
3 - 1 15|+ 2,351.07 50 20 25 5 40 50 10| = 42
3 - 1 16| X+ 2,415.96 30 40 25 5 57 36 7] 43
3 - 1 17|+ 1,136.68 60 20 15 5 50 38 13| = 43
3 - 1 18| X+ 728.60 30 30 35 5 43 50 7] 45
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x2 AAWEXDIR(2)

I (%) RER(REAZ100%) | TEEE
= e = 2 N
CEES | B3| W ERM) | pe | pe | e | e | REw | wew | meE | oe ftff
3 1 21| ZF 1,379.41 40 30 25 5 50 42 8l 29
3 2 11{ 2+ 563.50 10 70 15 5 78 17 6| & 40
3 2 12|le/+ 540.07 70 15 10 5 50 33 17| & 38
3 2 13|54 888.32 5 75 15 5 79 16 5| = 37
3 2 14| LA 279.61 5 75 15 5 79 16 5| & 39
3 2 21| ZF 899.77 5 75 15 5 79 16 5| & 37
3 2 22| 2F 6,187.27 60 20 15 5 50 38 13| = 38
3 2 23| ZAF 1,472.36 5 75 15 5 79 16 5| & 37
3 2 24| 2% 558.07 50 30 15 5 60 30 10| *= 39
3 2 25| 2F 805.47 15 40 35 10 47 41 12| & 37
3 2 26| 2% 384.75 30 45 20 5 64 29 7] 36
3 2 27| 2% 1,504.62 20 45 30 5 56 38 6] = 35
3 2 31| RF 264.42 15 40 35 10 47 41 12| & 37
3 2 32| 2F 653.12 5 75 15 5 79 16 5| & 38
3 3 11{ 2+ 2,203.71 50 20 30 0 40 60 0| = 40
3 4 11| R+ 1,522.16 50 20 30 0 40 60 ol & 37
4 1 11| R+ 1,324.44 60 20 15 5 50 38 13| & 35
4 1 21| ZF 1,368.73 60 20 15 5 50 38 13| & 40
4 2 11| R+ 958.64 80 5 10 5 25 50 25| & 37
4 3 11| R+ 5,491.98 50 30 15 5 60 30 10| *= 35
4 3 12| X% 874.02 20 40 30 10 50 38 13| = 31
4 3 13|+ 1,074.04 20 40 30 10 50 38 13| = 35
4 4 11| R+ 2,767.16 5 75 15 5 79 16 5| & 40
4 5 11{ 2+ 3,917.53 50 30 20 0 60 40 0| = 36
4 6 11| R+ 1,710.73 20 60 15 5 75 19 6] = 41
4 6 12( 2+ 5,134.27 20 60 15 5 75 19 6] = 40
4 6 13|+ 5,748.28 5 80 10 5 84 11 5| = 34
4 6 14| 2+ 839.89 20 60 15 5 75 19 6] = 22
4 6 15|+ 384.85 20 60 15 5 75 19 6| = 22
4 7 11| R+ 991.21 20 60 15 5 75 19 6] = 31
5 1 11|+ 1,785.26 50 35 10 5 70 20 10| *= 39
5 2 11|k 1,378.33 10 50 20 20 56 22 22| & 42
5 2 12| L5 1,512.76 70 20 5 5 67 17 17| = 42
5 3 11|e/F 916.23 20 60 15 5 75 19 6| = 30
5 4 11{ 2+ 856.26 20 30 30 20 38 38 25| & 25
6 1 11| R+ 348.03 5 40 35 20 42 37 21| 35
6 1 21| RF 3,167.69 5 40 35 20 42 37 21| £ 39
6 1 22| 2% 1,554.59 40 30 20 10 50 33 17| = 34
6 1 23| X% 2,499.37 60 10 20 10 25 50 25| £ 40
6 2 11| R+ 1,641.99 60 15 20 5 38 50 13| 35
6 2 12|+ 506.39 40 30 20 10 50 33 17| 34
6 2 13|+ 1,348.12 10 50 30 10 56 33 11| = 39
6 2 21| ZF 376.47 40 30 20 10 50 33 17| 38
6 2 31| 2F 289.18 10 50 30 10 56 33 11| = 40
6 3 11|e/F 1,068.95 60 25 10 5 63 25 13| = 38
6 3 12|e/+ 2,479.66 30 40 20 10 57 29 14| *= 39
6 3 21|+ 1,565.85 60 25 10 5 63 25 13| = 40
6 3 22|e/#+ 1,123.07 30 40 20 10 57 29 14| * 38
6 4 11| R+ 1,543.98 50 20 20 10 40 40 20| & 32
6 4 12( 2+ 1,456.92 5 50 35 10 53 37 11| 31
6 4 13|+ 1,474.03 40 20 30 10 33 50 17| 29
6 4 14| 2+ 1,678.01 5 50 35 10 53 37 11| 34
6 4 15|+ 2,563.63 40 20 30 10 33 50 17| = 31
6 4 16| X+ 3,991.85 5 50 35 10 53 37 11| = 29
6 4 17|+ 4,462.98 20 50 20 10 63 25 13| = 26
6 4 18| X+ 2,570.83 5 50 35 10 53 37 11| = 27
7 1 14|+ 823.68 5 45 40 10 47 42 11| = 33
7 1 15|+ 914.77 60 20 15 5 50 38 13| = 34
7 2 11{ 2+ 267.28 20 45 30 5 56 38 6] = 30
7 2 21| 2F 800.70 20 45 30 5 56 38 6| = 31
7 2 22| 2% 491.90 30 40 20 10 57 29 14| *= 30
7 3 11| R+ 619.85 20 30 45 5 38 56 6] = 34
7 3 12( 2+ 1,592.74 50 25 20 5 50 40 10| = 34
7 3 13|+ 507.45 5 45 40 10 47 42 11| = 29
7 3 14| X+ 625.25 20 45 30 5 56 38 6] = 28
7 4 11| R+ 1,532.61 60 10 25 5 25 63 13| = 38
209,389.30 100 100
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